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import java.io.*;
public class Assignment7_5{
public static void main(String[] args) throws IOException{

h
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BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in, "Shift-JIS"));

char wareki; // FOBDERA
int year_wareki; // F0f&
int year_seireki; // ?Bf&
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System.out.println("fIBDSFEABNBRELET, ");

// FOBOEIR \
System.out.println("FIBOFSZANDULUTIESL), ");
System.out.println("B8}8-m KiE»t B8%0>s YR>h HF0->r");
wareki = br.readlLine().charAt(0);
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switch(wareki)

{
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}//public static void main()
}//class Assignment7_5
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